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Collector-Base Voltage

Collector-Emitter Voltage V 

Emitter-Base Voltage V

Collector Current -Continuous A 

Collector Power Dissipation mW

Operation Junction  and Storage Temperature Range �

� /WThermal Resistance �rom Junction �o Ambient

V 

72����3ODVWLF�(QFDSVXODWH�7UDQVLVWRUV

3DUDPHWHU� 6\PERO 7HVW� &RQGLWLRQV 0LQ 7\S 0D[ 8QLW

&ROOHFWRU�EDVH�EUHDNGRZQ�YROWDJH V(BR)CBO -20 V 

&ROOHFWRU�HPLWWHU�EUHDNGRZQ�YROWDJH V(BR)CEO -20 V 

(PLWWHU�EDVH�EUHDNGRZQ�YROWDJH V(BR)EBO -6 V 

&ROOHFWRU�FXW�RII�FXUUHQW ICBO -0.1 

(PLWWHU�FXW�RII�FXUUHQW IEBO -0.1 

hFE(1) 120 400
'&�FXUUHQW�JDLQ�

hFE(2) 40

&ROOHFWRU�HPLWWHU�VDWXUDWLRQ�YROWDJH VCE(sat) -0.5 V

%DVH�HPLWWHU�YROWDJH VBE -0.85 V 

&ROOHFWRU�RXWSXW�FDSDFLWDQFH Cob 40 pF 

7UDQVLWLRQ�IUHTXHQF\ fT 120 MHz 

0.169(4.3)
0.185(4.7)
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0.015(0.38)
0.022(0.55)

0.096(2.44)
0.104(2.64)

TYP:
0.050(1.27)

0.130(3.3)
0.146(3.7)
0.043(1.1)
0.055(1.4)
Mi0.135(3.43)0.014(0.36)
0.020(0.51)
Max:
0.015(0.38)
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